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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I « EXAMINATION — WINTER - 2014

Date: 23-12-2014

Subject Code: 3300005

Subject Name: Basic Physics (Group-2)
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Attempt any five questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable and Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Give S.1. units of the following Physical Quantity (1) Momentum (2) Power.
Define: (1) Absolute Error (2) Percentage Error.

Distinguish between transverse and longitudinal wave.

What is Coulomb’s inverse square law. Explain.

State Ohm’s law and Explain it.

Give difference: Half wave rectifier and full wave rectifier.
Write properties of LASER beam.

Distinguish between Ferromagnetic and diamagnetic materials.
Explain Fleming right hand rule.

Write two uses of Nanomaterials.

Explain construction and working of Vernier Callipers with neat and clean
diagram and level each parts.

OR
Explain construction and working of Micrometer Screw gauge with neat and
clean diagram.
Explain series and parallel connection of resistances with suitable circuit
diagram.

OR
State and Explain Faraday’s law of electrolysis.
A micrometer Screw has pitch 0.5 mm and has 50 divisions on its circular
scale. Calculate its least Count.

OR
Main Scale of Vernier Callipers is callibr ated in millimeter. If 20 Vernier
Scale divisions is equal to 19 Main Scale division. Calculate Least Count of
it.
Explain the formation of stationary wave in a medium with diagram.

OR
Distinguish between constructive and destructive interference.

Explain Kirchoff’s current and voltage laws with suitable circuit diagram.
OR

Explain Joule’s law of heating of electric current.

Explain Faraday’s laws of Electromagnetic Induction.
OR

Distinguish between P - type and N — type semiconductor.

Explain dispersion of light with diagram.

OR

1/4

Total Marks: 70

14

03

03

03

03
04

04

04

04
03

03
03

03
04



Q.4

Q.5

U 1

Ud. R

(©)
(d)

(d)

(a)
(@)
(b)

(b)

(©

(a)
(b)
()
(d)

& e v £ X W oo

g °

£

If an Eletric heater of 1000 Watt is used for 5 hrs daily for 30 days. Calculate
the unit of Eletricity consumed.
The Potential difference across a resistance of 20 ohm is 60 volt. Find the
current flowing through it.

OR
Three resistances of 2 ohm, 4 ohm and 6 ohm are connected in parallel. Find
out effective resistance of the combination.

What is optical fibre. Discuss its uses in communication.

OR
Explain Newton’s Equation for velocity of sound and show the effect of
temperature on velocity of sound
Speed of sound in air is 30,000 cm/s. If the frequency of sound is 300 Hz then
calculate the wave length of sound in water.

OR
An object is placed at a distance of 75 cm from a convex lens of focal length
50 cm. Calculate the Image distance.
Write different uses of LASER

State and Explain Lenz’s law.

Explain the working of PNP and NPN transistor with suitable diagram.
Write the different application of Super conductivity.

Explain total internal reflection of light.
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